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GENERAL LOCUS AND THE CIRCLE

- (@) Find the equation of the locus of a point moving so that it is equidistant from

the points A(1, —-3) and B(2, 1).
(b) Find the midpoint, P, and gradient, m, of AB.
(¢) Find the equation of the perpendicular bisector of AB.

. (a) Find the equation of the locus of a point moving so that PA is perpendicular to

PB where A = (3,1)and B = (-5, 5).
(b) Find the midpoint, C, of AB. )
(¢) Find the exact length of AC.
(d) Find the equation of the circle with centre C and radius AC.

. Find the equation of the locus of a point moving so that PA:PB = 3:2 where

A = (5,0)and B = (1,-1).

. Find the equation of the locus of a point moving so that it is always 3 units from

the line3x ~ 4y — 1 = 0.

. Find the equation of the circle with centre (1, 2) and radius 3.
. Find the equation of the circle with centre (-2, 5) and radius V2.

. Find the coordinates of the centre and the length of the radius of each circle:

(a)x? —4x + y2 — 8y — 5 = 0
(b)x* —6x + y> + 2y — 6 = 0
(©x* +2¢ +y> - 10y + 1 =0
(dx®+ 12x + y> + 4y + 4 = 0

+ +

. Sketch the graph of x? — 2x + y? + 4y — 4 = Q.
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